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A VTST-16

SECTION - A

Analytical Ability

gt Suggs
Questions : 75 Marks : 75
P :75 Srdpew: 75
(i) Data Sufficiency (Marks : 20)
Sgrod Sovgnd (Srdy e : 20)

Note : In questions numbered 1 to 20, a question is followed by data in the form of two
statements labelled as [ and 1. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropriate choice from (1) to (4) as per the following guidelines :

(a) Mark choice (1) if the statement | alone is sufficient to answer the question.
(b) Mark choice (2) if the statement II alone is sufficient to answer the question.

(c) Mark choice (3) if both the statements | and Il are sufTicient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements | and Il together are not sufficient to
answer the question and additional data is required.

S5 1 1908 20 S5 205 @B HHE® 28 ), oD (308 L1l 6 Hes fe
Soth (HHiSores Sgrodom aixwgray. VYO Sgroml) dVAN0Y, AW
EdSare PHS Bireral) ad)odd ogdrw sPeradr Sov o b
Dg"uoﬁ'ﬂ, & .'.)g‘ﬁnaﬁw (808 HrESEE Lrerw aDArNOW (1) wod (4)
S8E 00 ward 2o Jod¥ Jabod.

@ EhS Brobo adyods @HSso | drEH dorgibard b amw
(1) o~ 580308,

() EHS SEredo adyols {HSto Il rED Dogibond D amw
(2) r~ H0oDod.

© @RS Srobo adyo® EHuees |, Il Sod Dongiie ©oHe*
D 28 8 Erar Dovgho S*EIE D 2w (3) M HBoS04.

@) EHS Wraedo ad)odd WhHdsw I, 1l Sod $rar Dovglo s
@SS Serofo BdEHaE b zarw (4) o HBoNod.
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What is the positiye integer “a” that is not exceeding 15007
1500 % Qo S&Yrgrodo “a” 2B?
1. 19 is a factor of “a’.
a% 19 2% s~Ssro¥o.
I. 29 divides *a’.
a® 29 Aol

If x and y are positive integers, is x greater than y?
X,y @ SIYrgrostuand, x> y sPdoc?

l.  20<x

. y>17

Isx>y?
x>y opdboa?
. 3x+2y=11
II. x-y=2
Is the product xy positive?
200 xy :‘ﬁa-égﬁa‘:r?
L (+yP<(x-y)?
I x=y
If x, y, Z are positive integers, is x + y +# divisible by 7?7
X, ¥,Z e «:‘ﬁﬁ’g‘g‘os'c.amﬁ. 7 Z&8 &+ v + z grRoduhdoa?
I. x+y+zisaneven number.
X+ y+200 vowg
. x=4y-11,2=2y %4
If the product of two positive integers m and n is 132, then what is the value of m + n?
Sodb FRYrgreseo m, n & w0 132 wawd, m + n Jesd Jod?
L m > n
WRYWSIr=nj=1

What is the length of the side BC in the triangle ABC?
|8%b20 ABC & ghazin BC &) oods?
. AB=8cm AC=5cm
II.  Area of the triangle ABC is 10 cm”.
ABC (82b2: 37°¢,g0 10 35.200.80.

What is the value of cos 8 + sin 67

cos 0 + sin 0 Deod dod?
1. secB +cosecB=35

: 1
II. sin28= 3

3 . P.T.0.
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10.

11.

12.

13.

14.
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Is the positive integer n divisible by 2257
GRgrgroso n® 225 rAvoa?

1. 75 is a factor of n.
n% 75 2% s~8oro¥o0.

II. 45is a factor of n.
n 545 2% s~Sro¥o.

What percent of marks did Ram get in 4 subjects, on average?
avenrd ‘f’..lggaué" o © DAY ey o Wik TS0 Jod?

I.  He got 92 in Physics and 85 in English.
osa8 Ja% r&oc‘:‘ 92, @ofilnd® 85 Hayav.

1. He got 96 in Mathematics and 94 in Chemistry.
oss8 Hdsods® 96, S abDE r&orﬁ' 94 Sopow.

How old is Raghu today?
& B2 8im Dabiny dod?

L. Today is his birthday.
& B2 0388 DYS B

II.  One year after, he will be twice as old as 10 years ago.
25 DondyBo SHad vdd Hady 10 VoD oty (B0 DablnyD 8oy,

How much is the loss?
‘:'a‘@o wos?

I.  The cost price is T 300.
£'%) 3¢ & 300.

II.  The loss is 25% of the selling price.
Do, o) 8 IuS* 25%.

If a is the average of the numbers 1, 2, 3 and x, what 1sthcvalucnfx‘*
12,3, x Dogge ity a @and, x Deod dod?

L. X 1$ an integer.
x 2.5 Jrgrosaw.

1L '=Etﬁn - x)

If p% of x is 3, then what is p% of y?
x & p% =3 owd, yS* p% Jod?
L p=25x=

I. p=60,y=50

4
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15.

16.

17.

18.

19,

20.

A and B'start a business jointly. What is A’s share out of an annual profit of ¥ 23,8007
A, B w Jodhform 28 argrorl) (@rdodomrd. Dodd)¥ orglo & 23,800 &t
A b Jod?
L. A’'s investment is T 1,20,000.
A 1}%::2.}& &r. 1,20.000.

I1. B'sinvestmentis 12 % more than A’s investment.
A DpwdEol, B s 124 % s

If m is an integer and 10 < m < 100, then what is m?
m PrgrosPHdr, 10 <m < 100 sawd, m Jod?

. Onedigit of mis 3 times the other.
m & 2. ©0S To&'o 8 3 .

II.  Sum of the digits in m is 8.
m &2 woSe Iwdo 8.

If x is a positive integer, is the G.C.D. of 300 and x a prime number?
x SRPrgroSarapd, 300, v & A0 PerS :Cmq:l's?

L x 1s a prime number.
X ([DER Dowg.
I, 5<x

If a and b are two distinct two digit numbers that share the same digits, what is the value
ofa+b?
a, b e2 Joth S0W Tedosy Vowgua, Godo8¢%ar, 28 soSw PHUyd, a+ b
Ao wdods?
.  The difference between the two digits in each number is 7.

e :qu.lgé?‘a SodoSe g 2e5hm 7.
il jJa-h/ =63

Is AB parallel to x-axis?
r-u5*~8 AB Uaroddar?

L. 0OA = \!ﬁ

. B=(2,3)

Is the non-negative integer n odd?
20BE8 Lrgro¥o n T Vogrg?
I. (36)" 15 odd.
(36)" 2 Jowg
I (63)"is odd.
(63)" & vowg
www.sakshieducation.com P.T.O.
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Problem Solving

Sequence and Series
wEdrw, @ow

(4)

(4)

(4)

4)

(4)

(4)

VTST-16

(Marks : 55)
(Srdyy e : 55)
(Marks : 25)
(Brdy e : 25)

160N

CRXQ

Tree
odp
(=]

40

Note : In each of the questions numbered 21 to 40, a sequence of numbers or letters or
words or strings of letters that follow a definite pattern is given. Each question has a
blank space. This has to be filled by the correct answer from the four given options
to complete the sequence without breaking the pattern.

LS5 (Do 21 Dod 40 DB Ko @2 @S ad)d Vowge M, vfTTes M,
bores R, wEShre M, 28 |SRuddD QabHr) STy, (@03 BHSD
0D ald Tw p)STu Wod V0 ewd =2TwWN FNED |
DabhrR8 Poro Seaiioa Yrbotos.

21. 4DH:12LP::6FJ:

(W 14 NR {(2) 14RN (3) 16 NR

22. GKXP:DQUV ::FLTR:

(1) COQXR (2) CRQX (3) CXQR

23. : Rain : : Blizzard : Snow

gt R Ry S @ ot
(Hy Dnzzle {2) Deluge
wWHeo 2v [L¥abi
(3) Drift (4) Delight
QGG SLEINHE wDosh
24. 105:150::18.
(1) 35 (2) 39 (3) 45
25. Knife: : = Scissors : Cloth
o :: 588 ibd
() Wood (2) Paper (3) Iron
{4} s*Ado FRw
26. MK: ::JH:9
(1 1 @ 12 (3) 13
27 2:3di: : 56
(n 22 (2) 30 (3) 36
28. 15:26::35:
(1) 65 (2) 60 (3) 56

www.sakshieducation.com
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29.

31

32.

33.

3s.

37.

38.

39.

40.

U.S.A. : Dollar : : Indonesia :

005 Doahy ovipnes : Gred : 1 208 Shabe

(1) Yen (2) Poola
DS o
N4 X
W32 'L *
24 23
(1) 2 (2) 32
40, 39,37, 34, 28
W 30 (2) 31
841, 529, , 289
(1) 441 (2) 361
1,2,6.15, .56
(1 31 (2) 32
2A2, 4D3, 12GS5,
(1) 2417 (2) 3617
24, 60, 120, 210,
(my 312 (2) 326
5, 15, 35,65,
(v 105 (2) 95
ACF. CFJ, EIN,
(1 GLQ (2) GKR
13, 25, 51, 101, 203,
(1) 407 2) 406
0,3, 8, 15, 24, ,48
(1) 41 ) 37
225. 336, 447, , 669
(1) 556 (2) 558

www.sakshieducation.com

(3)

£3)

(3)

(3)

(3)

(3)

(3)

(3)

(3

(3)

(3)

(3)
7

Rupiah
Soahe

32

429

34

4817

336

85

GLR

405

35

554

(4)

(4)

(4)

(4)

(4)

@)

(4)

(4)

4

4)

(4)

(4)

Birr
06

42
12

33

489

35

48K9

343

75

EKQ

401

29

555
P.T.O.
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Note

o :

41.

42.

43.

45.

(1)

(3)

(1)

(3)

(1)

(3)

(1)

()

(1)

(3)

www.sakshieducation.com

In questions 41 to 45 pick the odd thing out :

(4. 6, 12)

(6. 8, 24)

83

63

but

nut

134

95335

Neon

41 203’45 HEL e DHod® VOB HBoWod -

27 (4,10,20)

“4)

(2)

(4)

(2)

(4)

(2)

(4)

(2)

4)

(8. 12, 48)

73

53

hut

put

156

364

Helium

b

Xenon

Bore

www.sakshieducation.com
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(b) Data Analysis (Marks : 10)
Sgrod AN (B eo: 10)

Note: In a Hostel with 500 students, 238 read Newspaper A, 217 read Newspaper B, 206
read Newspaper C, 90 read Papers A and B, 70 read Papers B and C, 83 read Papers C
and A, 27 read all the three Newspapers A, B and C. Based on this information,
answer the following questions 46 to 50.

AS0E : 500 od Jargdes o a8 HFHIS 238 wod agr V@S A D, 217 Wwod
STOBE B D, 206 208 TTH@E C J, 90 20d A Hdah B HBED, 70 00
B S00dfy C HB%e, 83 od C 20db A DBEuD, 27 od A, B 0ah Curd
T TVBELET SEYe-d. S VErorordy egrdorr IEW), 46 Wwod 50 HIH Ko
PhHod Sroraram orabod.

46. The number of students in the hostel who do not read any of the papers A, B and C is
A, B 20ah C D85S’ 98 S50 SRS & dargehe Vowg
(1) 54 (2) 55
(3) 56 (4) 45

47. The number of students in the hostel who read only one paper among A, B and C is
A, B 500 C H38us’ 28 HB5H dr S So3 HE dovghe Lowg
(1) 246 (2) 265
(3) 256 (4) 156

48. The number of students in the hostel who read exactly two Newspapers in A, B and C is
A, B 066 € argry38ed® ED)Som Godosd drEd 363 98 dangdhe Dowg
(1), 189 2y 243
(3) 216 4) 162

49. The number of students in the hostel who read Newspaper A only is
TTOBE A D D@D 303 HHE darghes Dowg
(1 92 (2) 105
(3) 148 4 211

50. The number of students in the hostel who read Newspapers A and C but not paper B is
T DSB8 A 0o C v SYdr HB8E B J S8 ;‘J'Qé' m'ggm ‘a'mq:cg
@y - 83 (2) 56
3) 70 (4) 63

. . P.T.O.
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The table given below shows the production of four types of Cars A, B, C and D in the
years 2010 to 2015. Based on the information given in the table answer questions
5110 55.

508 : & (208 DEE, 2010 wow 2015 vod&ySave DL 6838 sTdo T SE¥dwed,

52.

55.

A B, C 28ach D S‘Q.“:J wozofon Whrordon s8wyhod. & arordo
sgrdorm 510 55 86D o PHud Srgramvom ordbod.

Year
‘:&o&ﬁgﬁiu
2010 | 2011 | 2012 | 2013 | 2014 | 2015
Type
UZo
A 282 316 402 415 494 512
B 314 362 415 27467 480 543
C 265 312 387 %433 502 528
D 343 385 402 |~7434 467 504 7

In the year 2013, which type of car had registered the highest percent of increase in
production over its previous year?
2013 H VoHSBoL", ol (088 VohdyBo K08 wdgdE TEo, &6&8° )89 o

S&0 & H3rd Iod?
) A @ c @ B @ D
In which year, did car of type B register the highest percent of growth in production over

its previous year?
D LobS oS’ B §50 57 w08 hoddE DoddBhn £9) 0dgds wdo 683

$)B 2Ird Fos?
(1) 2015 (2) 2013 (3) 2012 (4) 2011
In the year 2014, what was the percentage growth of all types of cars put together over its

previous year, correct to two decimals?
2014 LoddyBod®, ol 8088 Vodd B0 508 8l smu s OV oW )8

T80, Tod &70% Fwo DD VDo P, Jod?
(1) 11.61 (2) 12.03 (3) 1230 @ 1121
During the period 2010-2015, which type of car registered the production of the highest

number of cars?

2010-2015 700" & S¥0 5°% ©&g0¥ Dowgd® &E8I Ird Jvod?

m A (2) B (3) C (4) D

The growth percent of the D type cars in the year 2013 over the year 2010, correct to two
decimals, is

2010 VoSS B0 E0B 2013 VoDSYPS" D §50 5% 3o 4833 H)A o Tod
&aod Q*“b:{mu DS UHOoSM

(1) 27.65 (2) 27.52 (3) 26.53 (4) 2494
www.sakshiedugation.com
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() Coding and Decoding Problems (Marks : 10)

£'aoh, 45%30h SHVge (3ry e : 10)
Note : The letters of the English alphabet are arranged around a circle in clock-wise direction

57.

59.

and are coded as follows :

A Vowel is coded as the next Vowel in the clockwise direction. A Consonant is coded
as the next Consonant in the anti-clockwise direction.

For decoding, the reverse process is adopted.

Using this coding and decoding process, answer the following questions 56 to 60.

: 20000 o¥Shred®) vfored 2¥ H)do Jowd by OIS' DO & (Sub

o §°G T -

a8 odM) vfod) VRIS ol 88 ud) eitod 56 F>H o8 rw
8507 eBUHBIS" ol S8 8 Iren wEBed 556 B3 %.

d5°a0R © @D DS VYA sduodITH.

& §'aof, 45Bof Do) ADAACD 56, W0 60 HEH do PHUD
VACFTRA U AR0G.

The code word for “NATURAL’ is
NATURAL 8 §°& xS0

(N
(3)

MESAQFM (2) MESAQEK
MESIQDK (4) MESASEK

The code word for PEACE 1=
PEACE & §°& 10

(1) NIEBI (2) NIEDI
(3) NAEBA (4) NIUBI
The code word for *UNITY ' is

UNITY & &°8 I%o

(1) AMOSY (2) AMOTX
(3)

AMOSX (4) AMESX

The word that is coded as SQASG is
SQASG m §°G Jabadd Do

(1)
(3)

TRUCK (2) TRUNK
TREAT (4) TRUTH

The code word for FORTUNATE is
FORTUNATE & £°& 1o

(1)
(3)

DUQSAMBSA (2) DUQSALESA
DUQSAMESI (4) DUQUAMESI

www.sakshieducation.com
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The letters of the Enbhsh alphabet are coded as follows :

For 1 <n < 26, the n™ letter is coded as the r'” letter where r is the remainder obtained
when 7n + 5 is divided by 26 (1 =< r = 26). For decoding the reverse process is
followed. Using this coding and decoding process, answer the questions 61 to 65.

H% : 20l BESHredR vforuD & 1808 Ao §°G SabERod.

61.

62.

(d)

67.

Tn + 5026 I grRoddypd ddy Fao . (1 <1< 26) voawd, n D wfo
1<£n<268rdoifon 5& 330
G5°Gof & ol 2S%H ‘&JQED Eradlsisyle
& §'30h D0k d8°Gof Jerard) GLAAOY 61 oW 65 DH o (DHLH
VAU ag0d.

The code for the word *ANSWER" 1s

ANSWER a8 §°G

(1) LTHIMC (2) LYHINA (3) LYKMOD (4) LTKINE

The code for the string PIXLY is

PIXLY s¥8srosd 556

(1) MPQKX (2) MPNOY (3) MTOKZ {(4) MCQPY

The number of letters that remain unchanged after coding is

§°G0R TJd B d Srdhy SodBoar ¢od eilituy Dowg

(n 3 (2) 2 (3, (4) 0

The string of letters that is coded as TIGER is

TIGER = £& dabadd ofdire

(1) OPBNA (2) QHDZM (3) PIEYL (4) RTDPC

The string of letters that is coded as MYSON is
MYSON r §°€ Habdt o58ary

(1) PIDRQ (2)” SIBTR {3) PNBTE (4) SNDRT
Date, Time & Arrangement Problems (Marks : 10)
Bb, THab0, edodE Widdges By e : 10)

Five bags A, B, C, D and E are piled one above the other. If A is above B, C is above D
but below E, and D is above A, then which bag is in the middle?

A, B, C, D, E DodHes 2800 & D4 o8 Foddm WHuE aIman. B WD
A 608. D 8 % 0o E 8 (808 C &08. A & D HoB, 2 LoD Hged® YHa?

(1 A (2) B (3) C (4 D
The angle between the minutes hand and the seconds hand when it is 3 hr. 26 min. 25 sec.
in a clock is

2.& K&arSodt 3 Hoi 26 Jy) 25 o) ©orpd Jwitve wed, VEod e
Dggiie o

(1) 9.5° @) % (3) 8.5° “) 8

The number of seconds in :—;— of an hour is

2.4 ok &2 ﬂ* grfod® 1ED Vowg

(1) 2100 (2) 2200 (3) 2000 (4) 2300

Www.sakshiecﬂ}cation.com
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69. How many times do the hours hand and minutes hand of a clock overlap between 1| AM

70.

71.

72.

73.

74.

5.

www.sakshieducation.com

and 11 PM? _
K3aPE0S*D Janires, Hobe dneves | AM D0a> 11 PM gy SN 28 o

2588 adodran?
(1) 24 2 23 (3) 22 4 21

A is the brother of B, B is the daughter of C, and D is the father of A. How is C related to D ?
BﬁJAﬂ‘d&&.Cﬁ]BE}‘&&,AE}DEGE}_DE‘.}C:}& ool 7

(1) Grand-daughter {(2) Husband
S To Al A fe]

(3) Daughter 4y Wife
Ereébh el

P and Q decided to meet at a venue at the scheduled time. Afier his arrival at 5.15 PM,
P found that he came 50 minutes earlier than Q, who came 35 minutes late to the meeting.
What is the scheduled time of the meeting?

P, Q e 28 D08 Thatrds ¥ Do B Lealfrred Mwod oK dbh

SISPM & P JHED), 35 Modres vedgorn dorhd HNYS Q S0 & 50 Mwdrw
5003 DTN BT . ) EsbE e 88 hdbo 287

(1) 5.30AM (2) 5.45PM (3) 5.30PM (4) 5.25PM
22+ bl
Ifasb= P Jthen(l +2)%3=
2 4 12
asb=" “@ond, (1+2)+3=
21 61 61 61
(D3 (2) 39 (€) T @4 7

It D denotes division, M denotes multiplication, A denotes -addition, and S denotes
subtraction, then 4A3512M16D4 =

D grifsfordy, M hnseomd), A Era8hr, S 8038 v, 4A3512M16D4 =

(1) -4 @) 4 @) 41 @ -4
TR, B S
I+5+25 125 625 * oo oo =
3 5 6
0 5 @ 3 G 3 @ 2
ime Z:2-m|<4}=
(1) {—-1,0,1,2,3,4,5,6} 2) {-3,-2,-1,0,1,2,3}
{3} J!—Z-— l-ﬂg I-'g R 3‘14} {4} {_ l,ﬂ, I'!- 21 31 4!5}

www.sakshiedygation.com P.T.O.
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SECTION-B
Mathematical Ability
ﬂdﬁw
(Questions : 75
Béyeo: 75
() Arithmetical Ability
uuﬁdﬂéﬁ:ﬁsﬁ
] . 1 1 B
76. 1fx(20) € R, then 1 +x+x2 S l+x+x"+l+:-:‘1+x'3_
| 1 1 B
x{aﬂ[}}EﬂﬁPOJ}g.l+x+xz+l+x+x--l+5+x—1+x—2_
(n » @ x'3 (3) (4)
1
77. Ifzh'i=8n_3,umn2ﬂ=
23“'1=-E*;11—_‘juo»3,2"—2=
(n 2 (2) 1 (30 4 (4)
] N ¢ 1 B
78. Hfa+tb+c=Othen o S BN T T a1
] 1 | B
ﬂ+b+“=(}“°’°§'f+x-h+1+.tb+x-¢+l+x‘=+.r‘“+l -
(1) A o (3) 1 (4)
79. Ifa+b=7b+c=—3 c+a=—4,thena’+b*+c’=
a+b=T.b+c--3.c+ta=-4owd, a*+b>+c'=
(1). 252 (2) -252 3) 0 (4)
2+4J3 | 2-—4J3 3-1
= + =a+b+/3, thena+4b=
80. [fzu\!i 2“"\,]@ \j§+| a '\r_
2+4J3 ,2-4/3 3-1
+ + =a+b+f3 vawd a+4b=
2-\3 2+3 A3+l ° \E
ny 17 (2) 20 (3) 15 (4)
81. \[30-124J6=
1) JIZ-\8 @ 23-12 () W2-23 )
82. Ifa:b=35:8,then(d4a+ 5b):(5a+4b)=
a:b=5:8 wand, (4a+ 5b): (5a +4b) =
(1) 60:59 (2) 59:60 (3) 60:57 (4)
83. If nis the largest positive integer such that 7" divides (68)!, then n =

(68)! 2 7" ooty 50 $Rrgro8o n ewd, n =

(1 5 (2) 10 (3) 15 (4)
www.sakshieducsation.com
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B84.

85.

86.

87.

21.

9.

The binary equivalent of the number 199 is
Rowg 199 8 THrRI® Bghogrg Arvod* Lowg
(1) 1100111 (2) 11100111 (3) 11000111 (4) 11100011

If0<x<19and 14x = 6(mod 19), then x =
0<x<19, 14x=6(mod 19) sowd, x=

(1y 3 (2) 8 (3) 14 (4) 18
A5+l _A5-1 , 2 T hli
Ifa= \E'l andh~‘vr§+].thenthemalueufa +ab +bfis
]

(1) 8 (2) 9 3) 7 4) 6

The largest power of 3 that divides (20)! is

(20)! & grhod 3 ahos) K00 Jrdo

(1) 3° (2) 3¢ 3 3 (4) 3%

The number among the following which is not a multiple of 33 is

(808 Vogged® 33 ) ihekeo ST

(1) 112233 (2) 121233 (3) 221133 (4) 332211

The descending order of the numbers 5\J6. 1003, 74/5, 67 is

576, 1013, /5, 647 Lomge 565 (E500

(1) &7, 5, 13, 5\/6 (2) 10\3.6\7, 15, 5/6
(3) V6, 5,67, 103 @) 10V3, W[5,6\7, 56

Out of a total of 750 studeriis each student studies at least one of the two subjects, Physics
and Mathematics. If 40% of them study Mathematics and 70% study Physics, then the
number of students who study both is

Sndo 750 208 Doyt (8 25 & Hdso, T TFud® Ko 288
SOHeD. OS* 40% Hddo, 70% TB¥ 'rao BSHHod Toldodd Sad
:Jcr-gdm ‘&Jaq:rg

&
(1) 65 (2) 75 (3) 85 (4) 95
i1 both the radius and height of a cylinder increase by 10%, then its volume increases by
28 0o a7grg0, DU 10% o8 WHOErEoSt WS
(1) 33.1% (2) 33.2% (3) 33.3% (4) 334%

What percent on the cost price of an article should a businessman mark on his article so
that he allows a discount of 30% on it and minimizes his loss to 2%?

28 DPYD REGSE o 30% SNoPE edpiyd BHT) Moo 2% 8
H00WE ol 28 g0 ¢ DY 5W) 8D & o Hypdr (DESS o
~g0owrd?
(1) 30 (2) 35 (3) 40 (4) 45

15 P.T.0.
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94,

9s.

97.

98.
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The selling price of an article is ¥ 75. If the profit percent is equal to its cost price, then the
cost price of that article (in ¥) is

2.8 DY vaSo du &r. 75. oryf do BN FEH DArIRNPD v TP Y &8
(& oS

(1) S0 (2) 55 (3) 60 (4) 65

Two persons P and Q enter into a business with the investments ¥ 90,000 and 1.25.000
respectively. After 9 months Q withdraws his money from the business. If T 32,340 is the

profit at the end of the year, then the share of P (in ¥) is
agdd HgHes P, Q e DV e, 90,000, . 1,25,000 ‘d@u&w&‘ 2.4 a-sﬂ-éné‘ﬁ

ESR0md. 9 Fve SHoE Q &5 DLWAEY UKD SETD. VodSyorod Trio
&r. 32,340 sond, P ¥y, & (8. o)

(1) 7,920 (2) 15,640 (3) 15,840 (4) 15940

Three persons A, B and C start a business with the investments in the ratio 3 : 4 : 5. After
3 months B invests an additional amount of 1/4" of his capital and C withdrew 1/5™ of his
capital. [f the annual profit in the business is T 2,40,000, then B's share in the profit (in T) is
31415 Dbvade RNBS° duihd DgHes A, B, € w o8 Sgrod) (80T S,
3 3ve S5 B odtom 85 DwdE® 1/4 Sod Indod &5 pwds 283N,
s C &% 'bgnu&r.‘i‘ 1/55 Dod  aDLOIFr00DEID. Voddyorod oo
&r. 2,40,000 sond orgfod® B ardr (U &)

(1) 90,000 (2) 91,000 (3) 93,000 (4) 95,000

Ifa:b=2:5thena’-ab+b’:aZ+ab+b? =
a:b=2:50vaSMa’-ab+b?:a?+ab+b? =

(1) 19:39 (2) 6:13 (3) 17:39 (4 13:39

Two water pipes A and B can fill an empty tank in 8 and 12 hrs. respectively and tap C at_
the bottom of the tank can empty the full tank in 9 hrs. If tap C is opened two hours after
the pipes A and B are opened, then the total time (in hrs.) taken to fill the tank is

Tod ¢ e A, B 28 00 G0 8, 12 D80 Kobd® Dodifuy & edid grmd
a%) Feray C Jodr ad) YD 9 Hosd® 9rd Jabiud. ew A, B w 300D
Sod Hobe SHard Evran CJ 807, &Y JodbdH Dy Sndo Wvabo (Hobech
a) s @) 7 (3) 6 4) 8

A pump can fill an empty tank in 3 hours. Because of a leakage at the bottom of the tank,

it took half an hour extra time. The time taken (in hours) to drain all the water from the
full tank by the leakage is

28 Do a8 g FYD 3 Hovd® Jobed. FYS' wdib yrrod® ad) I
Srreomr U0 JoNGAE 8d wikod Thdbo Hndm 8%0d. Do ad)
YD :)#le 032 tarcorr 90 wad*SardS Dty Lnabo (Hobeud®)

(1) 20 (2) 21 (3) 22 4) 23
16
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99.

100.

102.

103.

104.
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Three persons A, B and C together complete a work in 3 days; B and C together complete
the work in 6 days; and A and C together complete the same work in 4% days. Then the
number of days in which C alone can complete the work is

SoiHth HgHes A, B, C Sod 2.8 D 3 8¢’ rg Jabiied. B, C e Sed 6 82",
A, C e 500 4% 8% & 0 1D {8 Jabeth. eipdh C 2.4,3 & LD Yo Jabidd
faren

) 24 2) 12 (3) 15 4) 18

A person A can turnout thrice as much work as B can do. B alone can complete that work
in 20 days. After both of them worked together for 4 days, A left the work and

B continued till the end. Then the time (in days) taken by B to complete the remaining
work after A left the job, is

2% $g8 A, B 8%) 3 0t %&ﬁ&&%ﬂ&‘mum B 253 & DA 20 8¢’
D0 Sabfed. agﬁ.‘l" £00 4 5'%2ren DOEE, A LI 500D, B LD Wﬁsﬁﬁl
Eadriw. od A 200 3?‘@5. B bAdD R I:J"_B. Sabbd% %faﬁl eabo
(%)

(1) 4 2 5 (3) 6 4 7

A person A having completed 60% of the work in 15 days, calis another person B and
they together finish the remaining work in 5 days. Then how many days B alone would
have taken to do the whole work?

2¥ $g8 A 28 LE* 60% B 15 Srud’ rg I8, HE° 538 B D 1OV o0&

LFahos’ agr K0 ier VA 5 TS’ Pro I, B 2¥)d v Iwdo N
*@5&@2& ) Eares 1Y Goda?

£1) 25 (2) 20 3) 374 4 37

A train crosses an electric pole in 15 seconds, and a platform of length 100 metres in
25 seconds. Then the length of the train (in metres) is

8 Sw 2.8 &5}55 wogrdy 15 VEXSTD Dodl 100 obY DY), FEPron
25 VEQETH i, YD @ Teo DEY (&ESY)

(1) 120 (2) 150 (3) 180 (4) 200

A train travels at an average speed of 70 kmph and covers a distance of 140 km. The train travels
the first 80 km at a speed of 60 kmph. Then the speed (in kmph) during the next 60 km is
Lifens fob 70 8.2, Jfo8 2.8 Seo 140 .. &rdo [Daircknod. ©oHE* Snsd

80 .. LD ¢ Jeo Hob® 60 3.0 Hod DairKpod. eipdh u SHard 60 ..
Eroed) Rairdoded® ord 3o (Hob® 8., o&f)
() 70 (2) 80 (3) 9 @i 100

A sector area of a circle of radius I4unis%mz.Thm&mmgknfﬂ1esmthndim]is
14 0.8, Sggivd) 28 BB o8 Vg Brogo 3T Sod. ey @
g S0 (TaahHE’)

M 3 @ §- ® 3 @ 15

17 P.T.O.
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105. If the measures of the angles of a tniangle are in the ratio 1 : 2 : 3 and if the length of the
smallest side of the triangle is 10 cm, then the length of the lﬂng,cst side (in cm) is

¥ (B3bz0 Sore Soden 1:2:3 HNBE° dobwr, v (B552208° 68 THNB6 ghzo
D) 10 2o.D. wandd, o808 PEIL 2o PEY (Vo.. o)

(1) 103 (2) 203 (3) 20 (4) 30

106. A cylindrical container of radius 6 cm and height 15 cm is filled with ice-cream. The
entire ice-cream is divided equally among 10 children in the shape of cones surmounted
by hemispherical tops. If the height of the conical ice-cream bowl is twice the diameter of
its base, then the base radius of the cone is
6 Ro.ab. g Yo, 15 V0. KD o 28 YrarsEY FF Jodbr oo dcb.

wdo oHfod 10 od beed Lhrdom, oHH v b sy &Poud
us8od’ Godinm Do, FoSY us od® &) aﬂ-Lé 2 ©30 @0 rargs
Sgodadgtnod, FoHH G gragdgo i
(1) Sem/Ro.ad. (2) 4emod. (3) 3cmo.. Lo @) 2 emod,

107. A circus tent is in the form of a cylinder surmounted by a cone. The radius of the base of
the cylinder is 30 feet and its height is 10 feet. If the tofal height of the tent is 20 feet, then
the volume of the air (in cubic feet) in the tent is

28 VD Hardo a8 Yo FoHhn S 0olbénm ¢od. Lrdo gramgdrgo
30 wdibes 0D B 10 wdiba. e do ), Indo I 20 sdHibe vad, @
H@EB0E* md RHOET B0 (el wdibd®)

(1) 120=x 2)  1200x (3) 12000 (4) 140m

108. Ifa=x<b=a4% c=x"" thena® b’ c‘-'-
a=x< bEred =" wond, a®- bP- ¢
(1) ‘abe (2) 1 (3) log(abc) 4 0
109. A three digit number 4a3 is added to another three digit number 984 to give the four digit

number 13b7 which is divisible by 11. Then (a + b)* =
2.8 durdoSe oyg 4a3 © D durdoSe Dowg 984 & Seolm HNYO Iwdo 13b7 o

11 3 FApjlorr grholedisd) sreth ©oSe RowgH Vhrsond, ey (a+b) =
(1) 10 (2) 25 (3) 64 (4) 100

110. Ifx= 5+ ‘\JIS ++J5 + ..., then which of the following is true ?
x=\5+\5+5+ ... VYD 208 T8S* D8 J=0?

5 5
(1) 3<x<4 () 2<x<3  (3) 5 <x<3 @ x>3

18
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(ii) Algebraic and Geometrical Ability (Marks : 30)
Hdal, ms&?‘.:éai- ﬁ‘ﬁéggii (Br&oy e : 30)

111.

112,

113.

114.

© 116.

117.

118.

If a set A has 7 elements, then the number of subsets of A with at most 5 elements is

2 D8 A S° T fares o8, 5 8 DodHoae Srrestewod A € ¢ D Vowg
(1) 63 (2) lZl‘._} (3) B8O (4) 96

The statement p — (g — 1) is equivalent to

[Fdno p— (g =2 1) 8 Sogdnd

() p=(@vr () (pag—=r () (pvg—>r (4) p—@ar)

The statement (p » q) v ((—p) ~ q) is equivalent to

PHdRo (pAq) v (~p)Aaq) 8 Ei)t-:s@_::)&

(1) p (2) ~p (3) q 4) -q

If A is a set such that n(A) = 5, then the number of symmetric relations that can be defined
on Ais

A 2% 08, n(A) =5 swd A P JBgR0D o LD Voo NoVg
(1 2% (2) 210 (3) 215 4) 225]'

. The function f : R — R defined by f{x) = 3x2 + 5, forall x'e R, is

2.8 @Szdﬁo t‘:m—;ﬁa.@@xefﬁﬁl, ﬁx}=3x:’+5n1;]63{}'§,ﬁi§:3mi:of

(1) one-one only {2) onto only
sagE0 D& Dot A&
(3) abijection (4) neither one-one nor onto
2.8 Oibe [Pbado 9335‘:»: 579, VoiiRur s

If A. B are two sets such that n(A) = 5, n(B) = 6, then the number of surjections that can
be defined from A 10 B is

A, B e Soth Jhes, n(A) = 5, n(B) = 6 sand A Wwod B $ JgDodife VoY
@.}5)0&‘0 Rowg
Ay \ S (2) 6°-6 (3) 30 4) 0

. B i E : 4
The equation of the straight line passing through the point (7, -5) with slope 5~ is

Doty (7, -5) thoa B, srves 5+ 1 fe 15¢Tgr &SmO

(1) 4x-3y-53=0 (2) 4x+5y-3=0

(3) Sx+4y-15=0 (4) 5x—4y-55=0

If a line makes intercepts 5. 12 on X, Y axes respectively, then the length of the
perpendicular drawn from the origin to the line is

2.8 28ETw X, Y o370 D80 5, 12 w088 pogres B, ¢ V30 ure Doy
206 ADS vomo FEY
60 12 13 13

7 @ 13 G 5% @ 15

Ld
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119. tan 20° tan 40° tan 60° tan 80° =
3 3 3
a1y 3 & 5 o L @ B
|20. The value of cot (1950°) is
cot (1950°) deod
t 1
() 3 @) 3 3) NG (4) 5
21. (1 +tan 95°) (1 + tan 130°) =
(1 -2 @ 3+123 (3 3-23 4) 2
122. [fﬂﬁﬁ{%andtanﬂ+secﬂ=3,lhensinﬂ=
ﬂﬁﬂﬂg-tanﬂ+5ecﬂ=3uon&'.sinﬂ=
1 4 I 3
M 3 @ 3 @ 3 w L

123. The angles of elevation of the top of a building measured from two points A, B on the
horizontal ground and on the same side of the building are respectively 30°, 60°. If A, B
and the foot of the building are collinear and AB = 400 metres, then the height of that
building, in metres, is
g8z0w Ko Toh Dodbnyes A, B © 208 Aol .8 P08 Weriio oSy &g

E'oren DEOM 30°, 60°. DodPe A, B e FOTR8 8 I dodr FHo8 Fdod’
VoD Y O AB =400 Do vand, @ FHo8 I (bIS®)

(1) 200\3 (2) 200 () 100(\3-1) @ 100(/3+1)
124. When the polyriomial 7a — 322 + ax — § is divided by x + 3, the remainder is —13. Thena =
IaDd 7ot 3 +ax- 5 x+ 3 d grAR Sy To -13 ewd, a =
208 208 - 308 - 208
g 3 2) 3~ 3 —3— 9 —3
I25. The relation R is defined on the set of all real numbersby R = {(a,b)e RxR/a-bisan
integer}. Then R is
TV Vogrg WabdW 2.8 Wowogdo RA R = {(a,b) e RxR/a-b a8 YrgrosSo}
QDY ey, Vowodo R
(1) reflexive, symmetric but not transitive.
LorRYRo, YN0, S7R Vo(Eo SD.
(2) symmetric, transitive but not reflexive.
FUD0, VoEo, 57 VorRERo 5.
(3) reflexive, transitive but not symmetric.
DOTDEN0, VO[S0, S TeWo 57D

(4) an equivalence relation.

o
a8 Heg VoGO, |\ <ok shieducation.com

20



www.sakshieducation.com

VTST-16 A

126.

127.

128.

129.

130.

131.

132.

The sum of all the 3 digit numbers which leave the remainder 1 when divided by 4 is
4 D rRolad | Faom HAT) ey SurdoSy Rowge Iwdo
(1) 124575 (2) 123475 (3) 123525 (4) 124475

Ifx+y+z=0andxyz=5thenx’+y +2° =
x+y+tz=0,xyz=5owmd8 > +y +23=
() 2 2) 15 (3) 25 @ 35

In an arithmetic progression the ratio of 15" term to 7 term is 11 : 9. Then the ratio of
12" term to 8" term is

2% 00¥ FGSE 15D o, 75 ore A3 11: 9 swd, adS* 1235 o, §5 oo
=p8
(1 23:19 (2) 41:37 (3) 19:23 (4) 37:41

9
The value of the term independent of x in the expansion of (3): —%] 1S

9
(3x- %) stmet, x 80 20 Desdy

() 7%x37x2% (@) 7x3%x27 W7 %37 x 28 (4) -7x38x27

If C, = 19C,, then the value of €, #3 °C, +5-Cy + ..... +21 - C}y =
C,='0C o008, Cot 3 CH5-Cy+ ... #21- € G Desd =

(1) - 2" @) 92" 3 nE' . “ 2
® £ . 4 .4 :
The sum to infinite terms of the progression 6, 453557 ene 1S
4
645358 ...... BEE™D w08 Domes Svo
(11 (2) 33 (3) 60 (4 30

If A is an n x n matrix such that AZ=1and A # A, thendet (I + A) =
A28 nxndr 3% Al =100 A # AZesand, det (1+A) =

() 0 (2) 1 (3) -1 (4) 2

a lfA=[aij] is a 3 x 3 matrix and aij=4i+?j for 1 <1,j <3, then trace of 3A =

A=(a;) 283 %3088 1<i,j<3 84, =4i+ 7 oond, L8 3A ¥ erd
(1) 33 (2) 198 (3) 66 (4) 594

21 . P.T.O.
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138.

139.

140.
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I tan-"lr‘_
x-!lmﬂ 5“3 -

2 9 3 2
m (2) 5 3) 3 4 133
et
ITE sin 3x cos 4x

! =
(1 3 (2) 3
(3) 3 (4) does mlexjstﬁbg.‘%wéns‘d:
Ifx=sinB+BcosBand y=cos0-0sinb, thmﬁﬂtﬂ'ilﬁ
x=sin®+0 cos B, y=cos 0-0sin 0 wand, 8=> 'éd-gf

4 X 2 4
m 3 @ 7 G = @ 3

A, B are end points of the longest chord of a circie of radius 3 units. If O is the centre of
the circle and C is a point on the circle such that AC = AO, then the perimeter of the
tnangle ABC is

3 alrdén agrgo Ho 2 HBod” o8 (0L =g 8 Fhes A, B. D)8 SoEo 0 Hda
$)8 205D AC = A0 wddebtnd) Doty C vowd, ABC (Bgdzo HeSod

(1) 9+1f3 @ %3 B) 6+3f3 @ 3+6/3

If the diagonals of a rhombus are 14 cm and 48 cm, then its area in square centimetres is
2% Lo (Trows) Gy ¥gres 14 Vo.ab., 48 20.0b. vwd, o Svrego,

DEEY Mol h-_éd"

(1) B84 (2) 168 (3) 336 (4) 100

If the y-intercept of the straight line (2 + 3k) x+(7-2k) y+ (4k + 3)=0is I, thenk =
(2+3k) x+(7-2k) y + (4k + 3) = 0 DEETp GD¥) y-s088 wodo 1 vawd, k=

(1 1 2) -1 (3) 5 (4) -5

If (0, 0), (0, 4), (3, 0) are vertices of a triangle, then the distance between the circumcentre
and the orthocentre of the triangle is

(0, 0), (0, 4), (3, 0) e &¥ (Bgherd8 Igrowd, v (Bzbe LOD)E oo, wow
Sojore dgig &m0

5 5
s @ 3 & 3 @ s

www.sakshiedffeation.com
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(iii) Statistical Ability . (Marks : 10)

ﬂ'umséa"_é,; a*.‘ngsd (B et 10)
141. The mode of the frequency distribution given below 1s

142.

143.

144,
- 1,4, 9,27, 256 3 D8Yede thedagigino

145.

146.

& 308 WP ARYRG D EN0 GE) erdruEso

X w[12]14]16]18[20][22] 24
frequency (f) : 3 7 11 (25|27 | 20112 ] 9
NP0 |

(n 12 (2) 16

(3 17 (4) 18

The arithmetic mean of the observations 29, 30, 31, ...., 289 s
29,30, 31, ..., 289 LORudY BosMEgwo

(1) 318 (2) 159
317 635 %
(3) 2 (4) Tﬂ’
The median of the following data is
(B0 Seromm8 wdglido
X;: 25 | 30 | 35| 40 | 45 | 50| 55 | 60 | 65
F ency (f) :
52?%?0{} 4|9 |10PI3FIT|25|31 |14 7
(1) 40 (2) 45
(3) 50 (4) 55

The geometric mean of the observations 1, 4. 9, 27, 256 is

(n 12 (2) 21
(3) 28 (4 121

If the standard deviation of 7. 10, 13, 16, ..... 121 is o, then the standard deviation of
50,71,92, 113, .....8481s

7,10,13, 16, ...., 121e [ beno o sond 50,71,92, 113, ..., 848 o [Saddono
(1) 360 (2) 60
(3) 70 (4 490
If 7 coins are tossed at random, then the probability that even number of heads appear is
7 Bt drg))Som HHEIY S ER 0 Dowgs® Sanes Dy Dogrbgd

1 27-1

(1) 57 @) 57
1 1
G 3 4) 3
23 P.T.0.
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147. If two fair dice are thrown at random, then the probability that the sum of the digits on
their faces is a prime number is

Sod Jr8E FrDEUD MNBVPD T8 HT) woSy Iwdo ¥ (DS Dogg wade
Dogrdgd

11 25
M 35 @ 35
5 7
3 17 @ 13

- - .
148. The probability that A can solve a problem is 12 and for B it is ﬁ If both of them try
independently, then the probability that the problem is solved is
i T 9 -
a8 DDVgw A JPodadd o Jogrngd T3 od B 5d 174 B @ agsr
wgSo(Sorm [Rabd)odNpd & g rRoTELrI8 Dourng

5 10
() 33 @ 35
7 41
@ 33 @

149. If the letters of the word WISDOM dare permuted at random, then the probability that thé
vowels do not come together is

WISDOM o3 D506 eiorew afrgyDysorr o0, ey L& D55 Thoae

& 03 Vogrigd
1 1
m 3 @ §
2 5
(3.3 4) 3

150. If a number is chosen at random from the first 58 natural numbers, then the probability
that the number chosen is a prime number is

S8 58 Vre: Vogge Wod 2.8 Voypgw dﬁﬁ;ﬂagnm D0HE0H, u Vowg (TR

Vowg wddg VogrRgs
15 8
(1 33 2 39
17 9
3 3z (4) 39

24
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SECTION-C
Communication Ability

Questions : 50 Marks : 50
PART -1

Choose the correct meaning of the word given :
151. Assiduous

(1) hopeful (2) careful
(3) generous (4) careless
152. Statute
(1) asetofrules (2) asymbol of status
(3) asmall statue (4) structural design
153. Amnesty
(1) forgetfulness (2) selfishness
(3) pardon (4) dishonesty
154. Close-fisted
(1) miserly (2) _secretive
(3) narrow-minded (4) expensive
155. Ruminate
(1) fulminate (2) chew the cud
(3) germinate (4) cuddle
156. Premise
(1) argue (2) presuppose
(3) compel (4) unfold

Fill in the blank choosing the correct word :
157. Sentimental longing is known as

(1) amnesia .{2}
(3) dyslexia (4)

158. The dog is now
(1) house-broken (2)
(3) house-proud

159. A philanthropist is one who generally .

(1) hates everyone )
(3) harms everyone

nostalgia
euthanasia

. It won't spoil your carpet.

house-bound

(4) house-rested

likes everyone

(4) befriends everyone

160. The recipe calls for two of milk.
f:upsful (2) cupfuls
(3) cupful (4) cup

WWW.saks}}ifzdu
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PART -2
Securities in companies that are considered to be without risk are known as
(1) equities (2) mutual fund
(3) blue chips (4 ordinary shares

Intellectual capital implies
(1) the physical assets of intellectuals. (2) the mental agility of the workers.
(3) the capital city of intellectuals. (4) the intellectuals in the capital city.

‘Agenda’ means
(1) meeting of agents (2) development of an agency
(3) maintenance of agents 4y items for consideration

Managenal Economics 15 a branch of economics closely related to
(1) Macroeconomics 2) Welfare economics
(3) Microeconomics (4) Econometrics

The traffic density of visitors to a retail outlet is.expressed in terms of
(1) footfalls {2) footprints
(3) footsteps (4) footage

Netiquette means
(1) etiquette on the internet (2) net linkage
(3) network topology (4) network layers

The reversible transformation of data from the plain text to cipher text is
(1) abstraction (2) encryption
(3) inversion (4) access modification

A string of zeroes and ones used for authenticating sender of a document in computer
communication is called

(1) format (2) parity code
(3) handshake protocol (4) digital signature
CRT stands for
(1) Common Resource Terminal €2) Computer Recording Terminal
(3) Computer Recording Tube (4) Cathode Ray Tube
Pixel stands for
A1)  picture element (2) color coding
(3) camera identification (4) amobile application
26
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171.

172.

173.

174.

175.

176.

177.

PART -3
Choose the correct answer :

The passive form of the sentence “He wrote a letter to his friend” is
(1) A letter was written by him.

(2) A letter was written by him to his friend.

(3) He was writing a letter to his friend.

(4) A letter was being written to his friend.

The grammatically correct sentence among the following is :

(1) It ought to be she with who you share your secrets, not I.
(2) You ought share your secrets not with I but she.

(3) You must ought to share secrets with her, not me.

(4) It ought to be her with whom you share your secrets, not me.

A :  You had your entrance test yesterday.
How did you do?
B: Alas!|am undone.
Bis
(1) excited (2) elated (3) doubtfiul (4) dejected
A1 Why are you thinking of closing the {actory?

B : It’s because of my investment having gone down the drain.

B implies

(1)  that he hid currency notes in the pipes that led to the drain.

(2) that the drain gulped up his currency due to heavy rain.

(3) that he could not estimate the length or depth of the pipes that led to the drain.
(4) that all the money he had invested in the factory was totally wasted.

I ran into an old friend at the mall. The underlined phrase means
(1) < dashed against (2) met unexpectedly
(2)  droveupto (4) fought with
A lam late to the practice. Can I go now and say sorry to the coach?
B: Let’s not try to meet her now. She’s in a temper.
The coach is
(1) brooding (2) angry (3) sleeping (4) doubting
I always take her advice with a pinch of salt.
The speaker implies that

(1) he does not completely believe her advice.
(2) she always charges a fee for her advice.
(3) she forces him to follow her advice.

(4) she is always rude in her speech.

www.sakehieducation.com P.T.O.
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Fill in the blanks with the appropriate phrase/verb/preposition :

rHe the favour of the chairman.

(1) bathed in (2) broughtin

(3) basked in (4) baked in

The examination begun by now, but hasn’t.

(1) should have (2) might have

(3) must have (4) would have

The evening’s function was disrupted a major accident.
(1) but for (2) because of

(3) inspite of (4) inlievof

The bride entered the hall late as it took time for her to F

(1) . dresson (2) dress over
( dress up (4) dress for
They always sit to ‘cach other in the class, but they don’t talk.
(1) besides (2) across
(3) beside (4) next
Children ought to live their parents’ expectations.
{1y under (2) until

(3) upto (4) unto

I found the book which I earlier.

(1) lose (2) lost

{3) had lost (4) would lose
We decided that if it was fine, we walk home.

(1) shall (2) should

() will www.sakshieddéatié# i
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186.

187.

188.

189.

190.

PART -4

Read the following passage and answer questions 186-190.

What will man be like in the future-in 5000 or even 50,000 years from now? We can
only make a guess, of course, but we can be sure that he will be different from what he is
today. For man is slowly changing all the time.

Man, even five hundred years ago, was shorter than he is today. Now, on an
average, men are about three inches taller. Five hundred years is a relatively longer period
of time, so we may assume that man will continue to grow taller.

Again, in the modern world we use our brains a great deal. Even so, we still use only
20% of its capacity. Gradually we shall have to use our brains more and eventually we
shall need larger ones! This is likely to make the head, particularly the forehead. to grow
larger.
Now-a-days we use our eyes so much that very often they become weaker and we have to
wear glasses. But in future man’s eyes will grow stronger. Since we tend to make less use
of our arms and legs, they are likely to grow weaker. However, fingers will grow more
sensitive because of constant use. Hair will probably disappear from the body altogether in
course of time as it does not serve any useful purpose.’In the future then, both the sexes
are likely to be bald.

All the same, inspite of all these changes, future man will still have a lot in common
with us. He will still be a human being. with thoughts and emotions similar to our own.

The test tells us a lot about how future man

(1) will look (2) will live

(3) will feel ¢4) will think

The reason for believing that future man will be different is that he

(1) nevér stops growing. (2) is taller by three inches now.

{3) was shorter earlier. (4 never stops changing.

The larger forehead will be a consequence of

(1) the eyes growing stronger. (2] the present underutilization of the brain.
(3) the greater use of the brain. (4) hair disappearing from the body.
The future man will probably

(1) have bigger eyes. (2) have to wear glasses.

(3) become weaker. (4) see better.

The future man’s hair will

(1) stop growing completely. (2) will grow longer.

(3) fall more often. (4) will grow shorter.

9 P.T.O.
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Read the following passage and answer questions 191 — 195,

A shot smashed the wing-mirror and I trod on the accelerator even harder trying to
coax a little more speed out of the screaming engine. Beside me Priya was quite calm. but
I could sense that she was as terrified as 1 was. She was clinging on to her seat so as not to
be thrown on to me as we hurled round bends and comers, and bounced up and down on
the rough surface. It was no more than a cart track, really. My only thought was to getto a
town or village or at least to some sign of humanity — they would never dare shoot us
down in cold blood in front of witnesses.

The little van was out of sight now round one of the bends, but when we came to an
unexpectedly straight part of the lane, | could see it behind us in the driving mirror. Then
there was a crash as our rear window exploded, a bullet whistled between our heads, and
the windscreen shattered into a thick white fog.

“Knock it out, Priya! For God’s sake, knock it out!” | screamed. Priya was sobbing,
choking back fear and with her gloved hands she beat at the windscreen, dsing her hand
bag as a hammer and managed to knock a hole through which I could sec the road ahead.
The wind blew the broken glass in and my lap and chest were covered with little pebbles
of glasses. Now an icy gale whistled through the hole and made it difficult to see where
we were going. My eyes were watering and it was all | could siake out the bends in the lane.

191. The narrator, along with his companion, was driving fast because
(1) there were no people in the lane.
(2) he was scared.
(3} the engine was screaming.
(4) he wanted to go to some place with people.

192. It was difficult to dnve because
(1) the lane was only a cart track. (2) the car wouldn’t go very fast.
(3) the lane was curved and rough.  (4) the driver of the car had been sho

193. The narrator thought that
(1) the people in the van wanted to break their windscreen.

(2) - the people in the van wouldn’t kill him and Priya unless they could do it
unobserved.

(3) the people in the van did not really intend to kill the two of them.
(4) the people in the van could escape because their car was faster.

194. Priya had to knock the windscreen because
(1) the people behind were shooting at them.
(2) the driver could not see the road.
(3) there was a thick fog inside the car.
(4)  the rear window had exploded.

195. The narrator couldn’t see very well because
(1) it was dark.
(2) there were too many bends in the road.
(3) his eyes were watering.
(4 Priya hammered the windscreen.
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Read the following passage and answer questions 196-200.

Duty rounds the whole of life, from our entrance into it until our exit from it. There
is duty to superiors, duty to inferiors. and duty to equals. There is duty to man, and duty to
God. Wherever there is power to use or to direct, there is duty.

The abiding sense of duty is the very crown of character. It is the upholding law of
man in his highest attitudes. Without it the individual totters and falls before the first purr
of adversity or temptation. Whereas, inspired by it, the weakest becomes strong and full of
courage.

Duty is based upon a sense of justice - justice inspired by love, which is the most
perfect form of goodness. Duty is not a sentiment, but a principle pervading life. It
exhibits itself in conduct and in acts, which are mainly determined by man’s conscience
and free will.

The voice of conscience speaks in duty alone. Without its regulating and controlling
influence, the brightest and greatest intellect may be merely a light that leads us astray.
Conscience sets a man upon his feet. Conscience is the moral governor of the heart. It is
the governor of night action, right thought, right faith and right life. Only through its
dominating influence can the noble and upright character be fully developed.

Duty is discovered in

(4} conscientious actions (2) acts without conscience
(3) unconscious acts (4) sentimental responses
Duty is an outward form of .

(I) doubts with regard to the working of conscience

(2) emohonal responses that do not heed the voice of conscience
(3) the ambiguous role of conscience

(4)  the regulating voice of conscience

Duty is bound up with .

(1) wealth ) power

(3) physique (4) education

Duty plays a vital role

(1) in the younger days (2) in the middle of life

(3)° atthe end of life (4) from the cradle to the grave
The tone of the passage is i

(1) sadistic (2¥" cynical

(3) optimistic (4) pessimistic

www.sakshieducation.com
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